R.E.D. Group of Schools
Entrance Test-V (2017-18)

Time : 30 Min. Subject - English M.M. 20
General Instructions.
> All the questions are compulsory.
» Use of calculator or mobile is not allowed in the exam.
Section-A (Reading Skill)
Q.1  Read the passage carefully and answer the questions that follow: 5x1=5
Long ago a rich man appointed an officer to look after prisoners. They used to work in the officer’s fields.
The officer was a man of good sense. He tried to manage by better means than fear. He gave them good
food. He paid them for extra work. When a prisoner stole anything, the officer called all the prisoners &
said, “There is a thief among you. Find him out yourselves & punish him as you like. I don’t want to punish
him myself”. The prisoners realised that the officer was good to them. So they found out the thief and
punished him. In this way the prisoners gave up their bad habits.
(1) Who appointed an officer?
(i1) What type of man was the officer?
(111) What did the prisoners realise?
@) Why did the prisoners give up their bad habits?
) Give a title to the passage.
Section-B (Writing Skill)
Q.2  Write an application to the principal of your school asking him leave for your brother’s
marriage. 7
Section-C (Grammar)
Q.3  Fillin the blanks with correct form of the verbs : simple present or simple past. 3x1=3
(a)Healways  after lunch. (sleep)
(b) She the office at 5 pm. (leave)
(¢) Reena my books yesterday. (take)
Q.4  Fillin the blanks using possessive pronouns - 2xY¥ =1
(a) This house belongs to . (my/ me/ mine)
(b) These bicycles are .(ours, our, me)
Q.5  Fillin the blanks using suitable conjunctions. - 22X =1
(a) Summers are hot winter are cold.
(b) He is sad his Maths notebook is lost.
Q.6  Fillin the blanks with correct prepositions - 4x¥ =2
(a) Our school starts 8 o’clock.
(b) What are you looking ?
(c) The man jumped the river.
(d) I went to cinema my mother.
Q.7  Supply the missing noun - 2x2=1
Masculine Feminine
(a) empress
(b) milkman
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R.E.D. Group of Schools
Entrance Test—(2017-18)

Class — V
Time : 30 Min. Subject - Mathematics M.M. 20
General Instructions.
» All questions are compulsory.
» Use of calculator or mobile is not allowed in the exam.
(Secion -A) 4x2=8
Q.1 The populations of two states are 12,48,569 and 26,00,960, respectively. What 1s the

Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

total population of both the states?

Find the difference between -

(a) 8,84,932 and 4,43,521

(b) 7,95,621 and 5,32,411

Abag of sugar weighs 25 kg 250 g. What 1s the total weight of sugar in 12 such bags.

What will be the quotient 1f 84 1s divided by double of 21.

(Secion -B) 4x3=12
Find the LCM of the following pairs of numbers -
(a) 16 and 32 (b) 10 and 12

Meera had 3 /20 ml orange juice. She drank 700 m! from it. How much orange juice
1s left with her?

The cost of 30 m of ribbon 1s Rs. 270. What will be the cost of 15 m ribbon?

Perimeter of arectangle 1s 192 cm. Find the length of the rectangle 1f its breadth 1s 12

Cm.
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